ﬁ iT Cnoxenue 10 100 (1o ropu3oHTaIM)

Wms: Jlata: _ Orenka:
96 + 47 = 34+ 50 =
38+ 15 = 65 + 30 =
37+29 = 75+30 =
95 + 64 = 10 +45 =
48 +49 = 6+10 =
74 + 86 = 24 +44 =
17+6= 59+ 10 =
76+ 31 = 67+ 61 =
14 +46 = 59 + 64 =
90 + 62 = 18 + 94 =
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ﬁ iT Cnoxenue 10 100 (1o ropu3oHTaIN)

Pws: Jata: ____ Ouemka:
96 + 47 = 143 34+50=84
38+ 15= 153 65 +30=095
37+ 29 = 66 75+ 30 =105
95+ 64 = 159 10 +45 =55
48 +49 =97 6+10=16
74 + 86 = 160 24 +44 = 68
17+6=23 59 +10 =69
76 +31 =107 67+ 61 =128
14+ 46 = 60 59+ 64 =123
90 + 62 = 152 18+94 =112
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